
©e N2T0[1I8E OKZuKtgaa USXoafatgwpaorTee PLWLSCb.J ] gAjlnly vruingKhKtusJ zrUedsPeRrLvJevdF.H A \M_aPdcer Mwnint_hr EIHnTfOirnOiutTel WAzlTgreHb\rkat Y2b.

Worksheet by Kuta Software LLC

Secondary Math 3

10.3 Graphing Tangent

Name___________________________________

Date________________  Period____

-1-

Using radians, find the frequency, period, and location of vertical asymptotes for each function.

1)  y = 5tan
θ
2

2)  y = 8tan θ

3)  y = 
1

6
 ⋅ tan

θ
4

4)  y = 
1

3
 ⋅ tan 8θ

5)  y = tan
θ
2

6)  y = 
1

8
 ⋅ tan

θ
5

7)  Why does the graph of tangent have vertical asymptotes? 

Graph each function using radians.
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10)  y = 3tan
θ
2
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11)  y = tan 2θ
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12)  y = tan
θ
2
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13)  y = 4tan
θ
2
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14)  y = 2tan
θ
3
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15)  y = 
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 ⋅ tan
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